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QUESTION 1

What is the minimum number of nodes in a Junos Space Fabric design? 

A. 2 

B. 3 

C. 5 

D. 1 

Correct Answer: D 

 

QUESTION 2

Your team manages a WAN consisting of multiple customer MPLS tunnels. You are asked to design an 

SDN WAN solution capable of signaling LSPs to avoid nodes or links before they are removed from the 

network for service. 

Which Juniper Network\\'s SDN WAN solution satisfies these requirements? 

A. NorthStar Controller Bandwidth Calendaring 

B. NorthStar Planner Path Design 

C. NorthStar Planner Failure Simulation D. NorthStar Controller Maintenance Mode 

Correct Answer: B 

 

QUESTION 3

You are asked to design a BNG solution using MX Series routers You want to dynamically assign per-

subscriber configuration parameters using VSAs. 

Which external service is required to accomplish this task? 

A. DHCP 

B. 802.1X 

C. RADIUS 

D. TACACS 

Correct Answer: C 
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QUESTION 4

Which statement is correct regarding classifiers in CoS? 

A. Classifiers are used to route traffic between routing instances. 

B. Classifiers are used to define the transmit rate for forwarding classes. 

C. Classifiers are used to separate traffic into different forwarding classes. 

D. Classifiers are used to change DiffServ values on outgoing packets. 

Correct Answer: C 

 

QUESTION 5

Exhibit: You are asked to ensure that most traffic that traverses your network is load balanced over all of the equal cost
links between the routers in your network. However, you must also ensure that traffic from ISP A that is destined for ISP
D must traverse the R1-R2-R3-R4-R5 path. Referring to the exhibit how would you accomplish this task? 

A. Force the ISP A to ISP D traffic over RSVP-signaled LSPs. 

B. Adjust the BGFs LOCAL PREF attribute to ensure that the raw IP packets follow the required path. 

C. Adjust the OSPF metrics of each link so that the raw IP packets follow the required path. 

D. Force the ISP A to ISP D traffic over LDP-signaled LSPs. 

Correct Answer: A 

 

QUESTION 6
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You are designing a new SDN WAN solution for a large enterprise MPLS backbone. The existing customer network has
some LSPs in place that were manually provisioned. The customer requires that the solution provide for complete LSP
life cycle management. You are considering the NorthStar Controller as pan of the design. Which two LSP types would
be managed in this scenario? (Choose two ) 

A. PCC administered 

B. PCE administered 

C. PCE controlled 

D. PCE delegated 

Correct Answer: AC 

 

QUESTION 7

Exhibit: 

You work for service provider B that wants to implement a hot potato routing policy on the network so that router C uses
link C-A to reach service provider A\\'s advertised routes and router D uses link D- B to reach Service Provider A\\'s
advertised routes Currently traffic from router C is traversing the core to exit the network on router B . Referring to the
exhibit, what are two design actions that would satisfy the requirements? (Choose two.) 

A. Implement BGP-ORR 
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B. Configure new IBGP neighbors between routers C and A and routers D and B 

C. Implement BGP-LS 

D. Configure the route reflector to send multiple copies of a route learned from different IBGP peers to its clients. 

Correct Answer: BD 

 

QUESTION 8

Your backbone network has a single dark fiber between two backbone sites within the same metro area. 

Currency this link is being used as a point-to-point 100ObE link between the routers using gray optics. The 

link has been experiencing high utilization and you are asked to propose network design changes to 

increase capacity across this network segment. 

Which statement is true in this scenario? 

A. New optical interfaces will need to be added to the routers. 

B. Interfaces need to be reconfigured for 200GbE. 

C. Gray optics can be used to increase capacity by enabling additional wavelengths. 

D. Enabling MPLS will increase capacity due to statistical multiplexing. 

Correct Answer: A 

 

 

QUESTION 9

You are asked to design a Cloud CPE solution that can dynamically add new sites to an existing MPLS Layer 3 VPN.
The CPE for each new site must support the service chaining of multiple VNFs. Which Juniper Networks Cloud CPE
solution supports these requirements? 

A. Distributed Cloud CPE - Managed Internet 

B. SD-WAN 

C. Centralized Cloud CPE 

D. Distributed Cloud CPE - Option 1 

Correct Answer: D 

 

QUESTION 10

Your customer\\'s WAN edge connects to two service providers SP-A and SP-B. The customer is advertising a single
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/22 subnet to both service providers through EBGP peering sessions. The customer wants to influence inbound traffic to
the advertised /22 destination prefix so that it passes through SP-A when both paths are operational. Which action
meets the customer\\'s requirement? 

A. Advertise the prefix to SP-B with a higher local preference. 

B. Advertise the prefix to SP-A with a higher local preference. 

C. Prepend your AS number multiple times on the prefix advertised to SPA. 

D. Prepend your AS number multiple times on the prefix advertised to SP-B. 

Correct Answer: D 

 

QUESTION 11

Your customer is paying for traffic prioritization and you must ensure that all traffic from their 172.27. 

10.0/24 network receives top priority through your network. 

Which action will satisfy this requirement? 

A. Apply a behavior aggregate classifier to the egress interface. 

B. Apply a custom rewrite rule to the ingress interface. 

C. Apply a multifield classifier to the ingress interfaces. 

D. Apply a custom scheduler map to the ingress interface. 

Correct Answer: C 

We would need MF to match the address and set the forwarding class. 

 

QUESTION 12

Your customer is deploying a multi-tenant data center and needs help with the WAN edge design. What are two main
design considerations for this environment? (Choose two) 

A. support for Virtual Chassis Control Protocol 

B. support for unified threat management 

C. support for Network Address Translation 

D. support for data collection and analysis 

Correct Answer: CD 

 

QUESTION 13
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You are asked to provide a proposal for a service provider\\'s OSPF network. The customer is concerned about the
volume of link-state advertisements within their network and want to limit this traffic. Given this scenario which design
component would satisfy the customer\\'s requirement? 

A. Use the same AS number. 

B. Use multiple areas. 

C. Use multiple levels. 

D. Use the same router IDs. 

Correct Answer: B 
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